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‘ FIRST TERM EXAMINATION 2024-2025 M.M. 80
Time: 3 Hours CLASS X|-ACCOUNTANCY (055)

GENERAL INSTRUCTIONS:
1. This question paper consists of 34 questions. )
Q1 to Q20 each carries 1 mark, Q21 to Q26 each carrié

2

4 marks and Q30 to Q34 each carries 08 marks.
3. The paper to be attempted in order.
4,

Weightage will be given for a neat presentation f s X
i i il be recorded in the books of accoun
Q1 WD Shike by empi phieoeeg c) Sample distributed to customers.

(a) Strike by employees.
(b) Gift received by the proprietor. (d) Sale of personal motorcycles of the
proprietor.

Q2 A person from whom money is owned against the sale of goods is known as: (1)
(a) Creditor (b) Debtor (c) Investor (d) none of these

Q3 Identify the group that is not a user of accounting information: , (1)
(a) Religious preacher (¢) Government

s 3 marks, Q27 to Q29 each carries

(b) Customers (d) Potential Investors
Q4 Land measuring 2 acres cannot be recorded in the books due to: 1)
(a) Business entity concept (c) Cost concept

(b) Money measurement concept (d) Dual aspect concept

Q5 Saksham is applying @ straight-line depreciation method for the fixed assets. He (1)
has been following the policy for the last 15 years. Which accounting principle is
Saksham following?

(a) Cost (b) Matching . (C) Consistency | (d) Prudence
Q6 Statement |: Business transactions are usually evidenced by appropriate 1)
documents.

Statement 1I: A document that provides evidence of the transactions is called the
Source Document or a Voucher.

In the light of the given statements, choose the most appropriate answer from
the options given below:

(a) Both Statement | and Statement |l are correct.

(b) Both Statement | and Statement Il are incorrect.

(c) Statement | is correct, but Statement |l is incorrect.

(d) Statement | is incorrect, but Statement |l is correct.

Q7 "“Anticipate no proﬁt and provide for all possible losses" arises due to: (§))
(a) Accounting entity principle (c) Cost concept
(b) Prudence principle (d) Matching concept
Q8 Which of the following is considered a current asset?
(a) Buildings  (b) Equipment (c) Inventory (d) Land M
Q9 is the amount invested by the owner(s) in the business
Q10 Abank account is a . ()
(a) Personal Account  (b) Real Account  (c) Nominal (d) None of the K
Q11 The( Lagd and Building has a f o
a) debit balance i i * 5 1
(b; credit balance Eic))h(l,cear?lat gfr tchr:g;t it l | .

§

Q12 Name the books of original ent ' '
. ry in which the following t i
recorded: ( @) Sale of goods on credit (b) Sale of furniture forgca:?wnsacnons ol b
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